-\
\
-y
—,.
-

=3 WILDBEAR

Fitting Instructions rom AJ.S Fabrications
LS 7557

-2” Lowered Rear Top Shock Mounts
Defender, Discovery 1, Range Rover Classic

KiT CONTENTS When working on your vehicle please
2 x -2” Shock Mounts ensure that it is adequately chocked,
6 x M10 x 110mm bolts and where applicable supported on

6 x M10 washers

axle stands.
6 x M10 lock nuts

If in doubt please refer to a qualified
technician or your nearest Wildbear™

fitting centre.

INSTRUCTIONS

* Engage 2" gear and apply hand brake.

e Slacken rear wheel nuts, jack the vehicle and support the rear axle with axle stands.

* Remove the rear wheels.

¢ Slacken and unscrew the nut on the top shock upper mount and free the shock absorber from the pin making
careful note of the correct sequence of bushes and washers. (fig 1)

¢ Undo the three bolts holding the original top shock mount to the chassis and discard part and bolts.

e Utilising the three of the M10 x 110mm bolt sets supplied install the Wildbear™ -2” shock mount using the original
holes in the chassis (Fig 2)
Install the shock back on to -2” shock mount ensuring the bushes and washers are assembled in the correct
sequence.

e Check all bolts are properly tightened.

e Repeat for opposite side of vehicle.

o Refit rear wheels with wheels nuts and remove vehicle from axle stands.

e Fully tighten and correctly torque wheel nuts.

Fig 1

Thank you for buying and using Wildbear™ Products.
Proudly Designed and Manufactured in the UK

ﬁ-d-ﬁ F EDI‘iCEL'iQI'IS Parts and Accessories for Land Rovers

Head office: AJS Fabrications Limited, Unit 26, Park Farm Industrial Estate, Redditch, B98 7SN
Tel: +44 (0)1527 830552 Email: enquiries@wildbear4dx4.com Web: www.wildbear4x4.com





